[Mpe3eHTauus K ypoky MateMaTuKuM B 3 Kracce Ha
TeMy:
«Mpuémbl YCTHbIX BblYUCIIEHUW BuAa 450+30;

620-200»
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45+3 620 - 200

62 -2 62 + 2

450 + 30 620 + 200

45 - 3 450 - 30
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Crio)xxeHue u sebldumaHue
mpex3HayYHbIX Yucerl,
OKaH4UusaroWUXCH HyNaMul.




Hay4yumbcs 8bINONMHAME
CJ/IOXKeHUe U eblYumaHue
mpex3Ha4yHbIX Yyucerl,
OKaH4yusarowuxcsi Hyrsmu.
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=45 gec.+3a0ec.=48 : "5 &
nec.=480

=45 pec.- 30ec.=42
nec.=420

450 + 30

450 - 30

620 + 200= 62 pec.+ 20a0ec.=82 aec.=820

620 - 200 =62 pec.- 20nec.=42 pnec.=420
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450 + 30 = 400+(50+30) = 400 + 80 = 48! ".
450 - 30 =400+(50-30) =400 + 20 = 420

620 + 200= (600+200) +20 = 800 + 20 = 820

620 - 200 = (600-200) +20 = 400 + 20 = 420
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C.67 Ne1
BbINMOJIHUTDb
B TeTpaau C

g YCTHbIM
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CTp. 67
3agada Ne 3
(KpaTkaga 3anuce,
pelLlueHne, oTBET)



[TpoBepb cebs:
CTp. 67
3agada Ne 3

Hago B3BeCUTb -1 Kr
OTpesann-800r
Hago nobaButb-? 1
1 Kr=1000r



CTtp. 67 Ne 2
YCTHO



CTp. 67
3agada Ne 4 (kpaTkas 3anuce,
pelLleHne, OTBET)



[TpoBepb cebs:
3agada Ne 4
ayy.—6am
b yd. -4 om
S1 nn.=1 am?
S2 nn.= 2 am?
Kon-Bo NfNTOK-?



CamocTodaTenbHas
paboTa

Ctp. 67 Ne 6
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[lomallHee Ne 7, non

3agaHue: KpacHOW
yepTtoun, Ne 8
YCTHO
Mamemamurd 3
: 11T Kenaro yoayu 8
Uapuua Hayx: 8bIMONTHEeHUU
domawHeao

3adaHus!




